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a.  Scarlet strips: placed on head of Ynnwnn Y (faced towards exit) and on neck of 'n% 1yw (NV'NY DIPN)
b. Return to 79: 2" nm (including all 0’)n3) — response of the assemblage
IL Deciphered reports
a.  Report #1: pn¥» 7: NMITR M ~= nbnwnn YWY (one strip requires a MY*w, the other doesn’t)
i. 9o 37 since the strip of the 1w is divided into 2, needs Myw
ii. Challenge (¥pn 72 >n7): strip of N1 requires weight (to fall into fire)
1. Defense (x27): “weight” is subject to dispute:
a. a7 hyssop and cedar tied together b/c they are together in text
b. w7x7 tied together to create weight so they’ll fall into the fire
i. Challenge(»ar): N9 requires division —~hyssop/cedar bound with nw5 v
1. Implication: there are a few pieces
ii. Defense: read "% axn” (i.e. end of strip)
2. Tangent: 271 — cedar, hyssop and strip that were enflamed are valid
a.  Challenge: if the strip becomes enflamed, replace it
b. Answer: if it is enflamed from the outside (shooting fire), invalid
i. Ifif it got close to the flame, valid
b.  Report #2: "1 nwa "7 ’7: 3 strips — y1¥n ,nonwnn Pyw ,n79; 10 nr, 8 1r, 2 11
i.  Solution (»*1 w1 p37): mais 10 (janv '3; some hold 2 1)
1.  yw 8 (norm n 17 the dispute is here — some hold 2)
2. ynym?2
c. Report #3 (pry’ 77): 2 712 Mmoo nw: (3703 Yv) 19 ("MMTR) N1a — 1 valid, 1 invalid
i.  Snmwr a7 have this dispute; (as do later DRMINR re: NNITR 119)
ii. Conclusion: 17 holds that 112 is invalid:
1. »r77 o909 712 179 NVNY; (17: reason — states “Npn”, "IYHR” —v. 1)
a.  Challenge: 3"n3 99 also states ;R ,npn
b. Answer: nonw is not an N1y (179 isn’t narm MWTp)
i. Challenge: should be yp — (if n79, not nam »»1p, requires 1n3...)
ii. Answer: similar to observing wy» —not an nmay, yet requires jn
iii. SNIPY's reasoning: states npn 1NN
1. Challenge: also states npn 1Yo re: N9
2. Answer: read “he (another) slaughters before ‘him’ (q1yor)” v1
a. 27 teaches that 1y9x shouldn’t defocus (nyTn no’n)
b. Sxmww inferred from v. 2
c. 27 both are needed (nv'nw is the onset; N9 validates the ashes)
i. Excludes: (from req. of focus) throwing strip etc. into fire
iv.  Np7x supporting 27 - excludes woman from NV NY (NWR RO APIR:IT R MYHR)
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